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IME: 1.30 HOUR COST AND MANAGEMENT ACCOUNTING III  TOTALMARKS: 60
| ANSWER THE FOLLOWING (24x1=24)

1. The finished product of a factory has to pass through three processes (A, B, and C). The
normal wastage of each process is 2% in process A, 5% in process B and 10% in C. the
percentage of wastage on the number units entering cach process.

The scrap value of wastage of process A, B, and C are Rs.10, Rs.40 and Rs.20 per 100 units
respectively.

The output of each process is transferred to the next process and the finished products are
transferred from process C into stock. The following further information is obtained.

Process A Rs. | Process BRs. | Process C Rs.
Materials used 24000 12000 12000
Direct wages 16000 ‘10000 8000
Manufacturing Expenses 5000 7000 5000

Establishment expenses amounted to Rs.8, 500 which has to be apportioned in the
proportion of direct wages amongst the three processes.

20000 units have been put into process A at a cost of Rs.60, 000. The output of each process
has been A — 19600, B - 18,400, C — 16,700.
a) Process Accounts
b) Normal Loss Accounts
¢) Abnormal Loss Account.
d) Abnormal Gain Account. .
I ANSWER ANY TWO OF THE FOLLOWING (12x2=24)

2. In a chemical factory the product passes through three processes. The production of each
process is passed on to the next process immediately on completion. The following information
is available for the month of January 2015.

Particulars Blast Furnace Open Hearth Rolling Mill

Rs. Rs. Rs.

Materials 18,400 32,000 80,000
Wages 9,600 24,000 36,000
Factory Overhead 22,400 9,400 18,400

"(Units) (Units) (Units)
Production 18,000 18,750 24,000
Stock (01.01.2015) - 2,000 8,250
Stock (31.01.2015) -- 500 2,250

The finished stock obtained at the end of Rolling Mill process is sold at a profit
of 20% of selling price. Selling and distribution expenses for the month was
Rs.20,000.

Prepare process accounts and show the profit made during the month.

3. Mayura Co. Produces A as a main product, B and C as its by- products, the following
expenses have been incurred for the above products.

Joint Separate expenses

expenses A B C .

Rs. Rs. |Rs. Rs.
Materials 5,000 2,000 9200 1,300
Labour 4,500 1,000 800 800
On cost 4,000 500 300 400
Selling Price -- 21,000 10,000 ) 9,000
Profit on sale -- 50% 50% 331/3%
Show the method of apportionment of joint Expenses and also prepare necessary

accounts.
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III ANSWER ANY TWO OF THE FOLLOWING

5. Following particulars are available
Joint Products
Coke
Coal tar
Benzol
Sulphate
Gas

Yield in pound per ton of coal

1,420

120

22

26

_412
2,000

The price of coal is Rs.80 per ton. Direct wages Rs.40, Overheads Rs.60 per ton of

coal to the point of split off.

Prepare the Statement of apportionment of joint cost.

6. The output from process ‘B’ totaled Rs.2,500 units. Abnormal loss was 200 units. Normal
loss allowed was 10%. Additional information obtained was as under:

Material
Wages
Overheads
Scrap Value

Rs.5 per unit
Rs.4,000
Rs.3,350
Rs.2.50 per unit

Prepare Process Account and Abnormal loss account.

7. From the following figures relating to a Chemical Company show the main product account
and profit and loss account for the month of August 2009. When the sale value of by-product is

treated as miscellaneous income.

Direct materials -5000 units-Rs.75,000

Direct labour Rs.40,000

Manufacturing Overheads at 100% of direct wages.
Total units of main product produced 5000 units.
Sales 4000 units at Rs.80 per unit.

Closing stock 1000 units.

Amount realized from sale of by-product Rs.2,000.
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PADUA COLLEGE OF COMMERCE AND MANAGEMENT
I'INTERNAL -V SEM 11l BCOM -~AUGUST-2018

TIME: 1.30 HOUR FINANCIAL MANAGEMENT _TOTALMARKS: 60
| ANSWER THE FOLLOWING COMPULSORY (24x1=24)

1. A) DM Company needs Rs.5, 00,000 for construction of new plant. The following three financial
plans are feasible.

a) The Company may issue 50,000 equity shares of Rs.10 per share

b) The Company may issue 25,000 equity shares of Rs.10 per share and 2500 debentures of Rs.100
denominations bearing 8% rate of interest.

¢) The Company may issue 25000 equity shares at Rs.10 per share, and 2500 preference share at
Rs.100 per share bearing 8% rate of dividend.
If the Company searing before interest and taxes are Rs.30, 000, Rs.50,000, Rs.70,000, Rs.90,000
and Rs.1,20,000, what are the earning per share under each of the three financial plans. Which
alternative would you recommend and why? Assume a corporate tax rate of 50%. (12)

B) Star Limited needs Rs.14, 00,000 for expansion. The expansion is expected to yield an annual
EBIT of Rs.3, 50,000. In choosing a financial plan, AB Limited has an objective of maximising
earnings per share. It is considering the possibility of issuing equity shares of Rs.100 each and
raising debt of Rs.2, 50,000 or Rs.3, 00,000 or Rs.6, 00,000. Funds can be borrowed at the rates
indicated below.

a) Upto and including Rs.2,50,000 - 15%
b) Over Rs.2,50,000 and upto Rs. 3,50,000 — 16%
¢) Over Rs. 3,50,000-18%
Assume tax rate at 35% and determine the best option based on the EPS. (12)

I ANSWER ANY TWO OF THE FOLLOWING: (12x2=24)

2. Explain the scope of financial management under modern approach.

3. Calculate financial leverage and operating leverage under situation A and B financial plan1and
plan 2 respectively from the following relating to the operations and capital structure of XYZ Ltd.

Installed capacity 800 units
Selling price per unit 20,000
Variable cost per unit 15,000 -

Fixed cost : Situation A 8,00,000
Situation B 15, 00,000
Capital Structure

Particulars Financial plan 1 Financial plan 2
Equity capital 50,00,000 70,00,000
Debt (cost of debt at 10%) 50,00,000 20,00,000

4, Explain the functions of SEBI.

1l ANSWER ANY TWO OF THE FOLLOWING: (6x2=12)

5. Write a note on profit maximisation,

6. The summarized cost sheet of Careful Ltd is presented below:
Cost sheet for the month ended 31/3/2017

Elements of cost Rs.

Direct material cost 40,000
Direct wages 30,000
Prime cost 70,000
Factory overhead 20,000
Works cost 90,000
Office & administrative overhead | 30,000
Cost of production - 1,20,00&
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| Selling and distribution overhead | 15,000
Total cost 1,35,000
Profit 65,000
Sales 2,00,000

Calculate the operating leverage of the company

7 Rose and Co Ltd. presents to you the following Balance Sheet as on 31/12/2017.

Liabilities Rs Assets Rs |
Equity capital 5,00,000 Fixed assets 8,75,000
Preference share 1,00,000 Investments 2,50,000
Reserve fund 4,00,000 Stock 3,00,000

6% Debentures 2,00,000 S. Debtors ' 1,35,000

S. creditors 3,00,000 Bank balance 70,000

Profit & loss A/c 2,10,000 Preliminary expenses 80,000

17,10,000 17,10,000

The directors intended to transfer a sum of Rs.50, 000 out of profits to provision for tax. You are
required to calculate the debt-equity ratio. '

*##****##*#*#*****#***#****#*******************
ok ok o sk ok ok ok ok ok ok ok sk ok
3 3k 3k 3k 3k ok 2k sk ok s ok o ke ok ok
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